

An Introduction to Hilbert Spaces

Dr. Sunil Kumar Singh

Associate Professor

Department of Mathematics

Mahatma Gandhi Central University

Motihari-845401, Bihar, India

E-mail: sks_math@yahoo.com

Hilbert Spaces

Definition: Let X be a linear space over the field F .

An inner product on X is a function $\langle \cdot, \cdot \rangle: X \times X \rightarrow F$ which satisfies the following conditions:

(i) $\langle x, x \rangle \geq 0$, $\forall x \in X$

(ii) $\langle x, x \rangle = 0 \iff x = 0$

(iii) $\langle x, y \rangle = \overline{\langle y, x \rangle}$ $\forall x, y \in X$

(iv) $\langle \alpha x, y \rangle = \alpha \langle x, y \rangle$ $\forall x, y \in X$ and $\alpha \in F$

(v) $\langle x+y, z \rangle = \langle x, z \rangle + \langle y, z \rangle$, $\forall x, y, z \in X$

The scalar $\langle x, y \rangle$ is called the inner product of x and y , and X is called inner product space.

The inner product space is also called pre-Hilbert space.

Example: For vectors $x = (x_1, x_2, \dots, x_n)$ and $y = (y_1, y_2, \dots, y_n)$ in $\mathbb{R}^n$, define

$$\langle x, y \rangle = \sum_{i=1}^n x_i y_i$$

The space $(\mathbb{R}^n, \langle \cdot, \cdot \rangle)$ is a real inner product space.

Example: For vectors $x = (x_1, x_2, \dots, x_n)$ and $y = (y_1, y_2, \dots, y_n)$ in $\mathbb{C}^n$ define

$$\langle x, y \rangle = \sum_{i=1}^n x_i \bar{y}_i$$

The space $(\mathbb{C}^n, \langle \cdot, \cdot \rangle)$ is a complex inner product space.

Example: Consider the linear space l^2 . For vectors $x = \{x_i\}$ and $y = \{y_i\}$ in l^2 , define

$$\langle x, y \rangle = \sum_{i=1}^{\infty} x_i \overline{y_i}$$

The space $(l^2, \langle \cdot, \cdot \rangle)$ is an inner product space.

Example: Consider the linear space $C[a, b]$, the set of all continuous real valued (or complex valued) functions on $[a, b]$. For vectors $x, y \in C[a, b]$, define

$$\langle x, y \rangle = \int_a^b x(t) \overline{y(t)} dt$$

The space $(C[a, b], \langle \cdot, \cdot \rangle)$ is an inner product space.

Example Consider the linear space ℓ_2^n . For vectors $x = \{x_i\}$ and $y = \{y_i\}$ in ℓ_2^n , define

$$\langle x, y \rangle = \sum_{i=1}^n x_i \bar{y}_i$$

The space $(\ell_2^n, \langle \cdot, \cdot \rangle)$ is an inner product space.
proof:

$$(i) \langle x, x \rangle = \sum_{i=1}^n x_i \bar{x}_i = \sum_{i=1}^n |x_i|^2 \geq 0.$$

$$(ii) \langle x, x \rangle = 0 \Leftrightarrow \sum_{i=1}^n |x_i|^2 = 0 \Leftrightarrow x_i = 0 \forall i \\ \Leftrightarrow x = 0.$$

$$(iii) \overline{\langle x, y \rangle} = \overline{\sum_{i=1}^n x_i \bar{y}_i} \\ = \overline{(x_1 \bar{y}_1 + x_2 \bar{y}_2 + x_3 \bar{y}_3 + \dots + x_n \bar{y}_n)} \\ = \overline{x_1 \bar{y}_1} + \overline{x_2 \bar{y}_2} + \overline{x_3 \bar{y}_3} + \dots + \overline{x_n \bar{y}_n} \\ = \bar{x}_1 y_1 + \bar{x}_2 y_2 + \bar{x}_3 y_3 + \dots + \bar{x}_n y_n \\ = y_1 \bar{x}_1 + y_2 \bar{x}_2 + y_3 \bar{x}_3 + \dots + y_n \bar{x}_n \\ = \sum_{i=1}^n y_i \bar{x}_i \\ = \langle y, x \rangle$$

$$(iv) \langle \alpha x + \beta y, z \rangle = \sum_{i=1}^n (\alpha x_i + \beta y_i) \bar{z}_i \\ = \sum_{i=1}^n \alpha x_i \bar{z}_i + \sum_{i=1}^n \beta y_i \bar{z}_i \\ = \alpha \sum_{i=1}^n x_i \bar{z}_i + \beta \sum_{i=1}^n y_i \bar{z}_i \\ = \alpha \langle x, z \rangle + \beta \langle y, z \rangle$$

Thus ℓ_2^n is an inner product space.

Theorem If X is a complex inner product space, then

$$(i) \langle \alpha x - \beta y, z \rangle = \alpha \langle x, z \rangle - \beta \langle y, z \rangle.$$

$$(ii) \langle x, \beta y + \gamma z \rangle = \bar{\beta} \langle x, y \rangle + \bar{\gamma} \langle x, z \rangle.$$

$$(iii) \langle x, \beta y - \gamma z \rangle = \bar{\beta} \langle x, y \rangle - \bar{\gamma} \langle x, z \rangle$$

$$(iv) \langle x, 0 \rangle = 0 \text{ and } \langle 0, x \rangle = 0 \text{ for every } x \in X.$$

Proof: (i) $\langle \alpha x - \beta y, z \rangle = \langle \alpha x + (-\beta y), z \rangle$
 $= \langle \alpha x, z \rangle + \langle (-\beta y), z \rangle$
 $= \alpha \langle x, z \rangle + (-\beta) \langle y, z \rangle$
 $= \alpha \langle x, z \rangle - \beta \langle y, z \rangle$

(ii) $\langle x, \beta y + \gamma z \rangle = \overline{\langle \beta y + \gamma z, x \rangle}$
 $= \overline{\langle \beta y, x \rangle + \langle \gamma z, x \rangle}$
 $= \overline{\beta \langle y, x \rangle + \gamma \langle z, x \rangle}$
 $= \bar{\beta} \overline{\langle y, x \rangle} + \bar{\gamma} \overline{\langle z, x \rangle}$
 $= \bar{\beta} \langle x, y \rangle + \bar{\gamma} \langle x, z \rangle$

Hence $\langle x, \beta y + \gamma z \rangle = \bar{\beta} \langle x, y \rangle + \bar{\gamma} \langle x, z \rangle.$

(iii) $\langle x, \beta y - \gamma z \rangle = \langle x, \beta y + (-\gamma) z \rangle$
 $= \bar{\beta} \langle x, y \rangle + \overline{(-\gamma)} \langle x, z \rangle$
 $= \bar{\beta} \langle x, y \rangle - \bar{\gamma} \langle x, z \rangle.$

(iv) $\langle 0, x \rangle = \langle 0 \cdot 0, x \rangle$ where 0 is the zero element of X .
 $= 0 \langle 0, x \rangle$
 $= 0$

An inner product on X generates a norm on X given by $\|x\| := +\sqrt{\langle x, x \rangle}$, and a metric on X given by

$$d(x, y) := \|x - y\| = +\sqrt{\langle x - y, x - y \rangle}.$$

Theorem (Cauchy Schwarz - inequality)

If x and y are any two vectors in an inner product space, then

$$|\langle x, y \rangle| \leq \|x\| \|y\| \quad \dots \quad (1)$$

where the equality holds if and only if x and y are linearly dependent.

Proof: If $y = 0$, then both sides of the inequality (1) are zero and so the equality holds.

For every scalar α we have

$$\begin{aligned} 0 \leq \|x - \alpha y\|^2 &= \langle x - \alpha y, x - \alpha y \rangle \\ &= \langle x, x \rangle - \alpha \langle x, y \rangle - \alpha [\langle y, x \rangle \\ &\quad - \alpha \langle y, y \rangle] \end{aligned}$$

Let us assume that $y \neq 0$ and choose $\alpha = \frac{\langle y, x \rangle}{\langle y, y \rangle}$.

Then the expression inside the square brackets vanish and we have

$$0 \leq \langle x, x \rangle - \frac{\langle y, x \rangle}{\langle y, y \rangle} \langle y, y \rangle = \|x\|^2 - \frac{\langle x, y \rangle \langle x, y \rangle}{\|y\|^2}$$

$$0 \leq \|x\|^2 - \frac{|\langle x, y \rangle|^2}{\|y\|^2} \quad \text{and therefore}$$

$$|\langle x, y \rangle|^2 \leq \|x\|^2 \|y\|^2$$

$$\text{or } |\langle x, y \rangle| \leq \|x\| \|y\|$$

Now, Suppose that $|\langle x, y \rangle| = \|x\| \|y\|$. If either of x or y is zero then x and y are linearly dependent. So let $\|x\| \neq 0$, $\|y\| \neq 0$, then

$$\langle x, x \rangle \neq 0 \text{ and } \langle y, y \rangle \neq 0.$$

We have already noted that for $\alpha = \frac{\langle x, y \rangle}{\langle y, y \rangle}$,

$$\|x - \alpha y\|^2 = \|x\|^2 - \frac{|\langle x, y \rangle|^2}{\|y\|^2}$$

$$\|x - \alpha y\|^2 = \|x\|^2 - \frac{\|x\|^2 \|y\|^2}{\|y\|^2} = 0$$

and therefore $x = \alpha y$.

This proves that x and y are linearly dependent. Conversely, if x and y are linearly dependent, then one of them is a scalar multiple of the other, say $y = \alpha x$. Then

$$\begin{aligned} |\langle x, y \rangle| &= |\langle x, \alpha x \rangle| = |\alpha| \|x\|^2 \\ &= |\alpha| \|x\|^2 \\ &= \|x\| |\alpha| \|x\| \\ &= \|x\| \|\alpha x\| = \|x\| \|y\| \end{aligned}$$

and so when x and y are linearly dependent equality in (1) holds.

Theorem If X is an inner product space, then

$\|x\| = \sqrt{\langle x, x \rangle}$ is a norm on X .

Proof: (i) $\|x\| \geq 0$ since $\langle x, x \rangle \geq 0$

(ii) $\|x\| = 0 \Leftrightarrow x = 0$ since $\langle x, x \rangle = 0 \Leftrightarrow x = 0$.

(iii) $\|\alpha x\|^2 = \langle \alpha x, \alpha x \rangle$
 $= \alpha \bar{\alpha} \langle x, x \rangle$
 $\|\alpha x\|^2 = |\alpha|^2 \|x\|^2$

$\Rightarrow \|\alpha x\| = |\alpha| \|x\|$.

(iv) $\|x+y\|^2 = \langle x+y, x+y \rangle = \langle x, x \rangle + \langle x, y \rangle + \langle y, x \rangle + \langle y, y \rangle$
 $= \|x\|^2 + \langle x, y \rangle + \overline{\langle x, y \rangle} + \|y\|^2$
 $= \|x\|^2 + 2 \operatorname{Re} \langle x, y \rangle + \|y\|^2$
 $\leq \|x\|^2 + 2 |\langle x, y \rangle| + \|y\|^2$
 $\leq \|x\|^2 + 2 \|x\| \|y\| + \|y\|^2$ By Cauchy-Schwarz inequality,
i.e. $\|x+y\|^2 \leq (\|x\| + \|y\|)^2$

and therefore

$$\|x+y\| \leq \|x\| + \|y\|$$

Definition: A Complete inner product space is called a Hilbert Space.

Observe that from the definition it is clear that every Hilbert space is a Banach space. Later we shall show that there exist Banach space which are not Hilbert space.

Theorem The inner product in a Hilbert space is jointly continuous.
That is if $x_n \rightarrow x$ and $y_n \rightarrow y$, then $\langle x_n, y_n \rangle \rightarrow \langle x, y \rangle$ as $n \rightarrow \infty$.

Proof:

$$\begin{aligned} |\langle x_n, y_n \rangle - \langle x, y \rangle| &= |\langle x_n, y_n \rangle - \langle x_n, y \rangle + \langle x_n, y \rangle - \langle x, y \rangle| \\ &= |\langle x_n, y_n - y \rangle + \langle x_n - x, y \rangle| \\ &\leq |\langle x_n, y_n - y \rangle| + |\langle x_n - x, y \rangle| \\ &\leq \|x_n\| \|y_n - y\| + \|x_n - x\| \|y\| \quad (\text{by Schwarz inequality}) \end{aligned}$$

Since $x_n \rightarrow x$ and $y_n \rightarrow y$, $\|x_n - x\| \rightarrow 0$ and $\|y_n - y\| \rightarrow 0$.

Further since $\{x_n\}$ is a convergent sequence, it is bounded so that $\|x_n\| \leq M$ for all n .

Thus, we get $\langle x_n, y_n \rangle \rightarrow \langle x, y \rangle$ as $n \rightarrow \infty$.

Hence the inner product in a Hilbert space is jointly continuous.

Theorem: For any two elements x and y in an inner product space X , the following known as parallelogram law holds:

$$\|x+y\|^2 + \|x-y\|^2 = 2(\|x\|^2 + \|y\|^2)$$

Proof: we have

$$\begin{aligned} \|x+y\|^2 &= \langle x+y, x+y \rangle \\ &= \langle x, x \rangle + \langle x, y \rangle + \langle y, x \rangle + \langle y, y \rangle \end{aligned}$$

$$\|x+y\|^2 = \|x\|^2 + \langle x, y \rangle + \langle y, x \rangle + \|y\|^2 \quad \text{--- (1)}$$

and

$$\begin{aligned} \|x-y\|^2 &= \langle x-y, x-y \rangle \\ &= \|x\|^2 - \langle x, y \rangle - \langle y, x \rangle + \|y\|^2 \quad \text{--- (2)} \end{aligned}$$

Adding (1) and (2) we get, the parallelogram law follows:

$$\|x+y\|^2 + \|x-y\|^2 = 2(\|x\|^2 + \|y\|^2)$$

The following example shows that for any arbitrary norm on a linear space the parallelogram law may not hold.

Example: let $X = C[0, 2\pi]$, the space of all real-valued continuous functions on $[0, 2\pi]$, we know that $C[0, 2\pi]$ is a Banach space with the norm

$$\|f\| = \sup_{0 \leq t \leq 2\pi} |f(t)|$$

We show that this norm does not satisfy the parallelogram law.

Take $f(t) = \max(\sin t, 0)$, $g(t) = \max(-\sin t, 0)$

i.e. $f(t) = \frac{\sin t + |\sin t|}{2}$ and $g(t) = \frac{-\sin t + |\sin t|}{2}$

Clearly, $\|f\| = 1$, $\|g\| = 1$

' $\|f+g\| = 1$, $\|f-g\| = 1$.

Thus $2(\|f\|^2 + \|g\|^2) = 4$ but $\|f+g\|^2 + \|f-g\|^2 = 2$.

and so $\|f+g\|^2 + \|f-g\|^2 \neq 2(\|f\|^2 + \|g\|^2)$.

Reference Books:

1. E. Kreyszig, Introductory Functional Analysis with Applications, John Wiley & Sons, 2006.
2. Walter Rudin, Functional Analysis, Tata McGraw Hill, 2010.
3. G. Bachman and L. Narici, Functional Analysis, Dover Publications, 2000.
4. J. B. Conway, A Course in Functional Analysis, Springer, 2006
5. P.K. Jain, O.P. Ahuja and K. Ahmed, Functional Analysis, New Age International.
6. B.V. Limaye, Functional Analysis, New Age International.
7. A. E. Taylor, Introduction to Functional Analysis, John Wiley, 1958.
8. G.F. Simmons, Introduction to Topology and Modern Analysis, McGraw Hills, 1963.

Thank You!